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2 a If xy1+y+y/1+x =0, then prove that —2 = — 8
Q Ji+y+y p o @oxf (8)
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‘b. Find the point on the curve y=7x-3x?, where the inclination of the tangent

with x-axis is of 45°. Also find the equation of the normal to the given curve
at that point.
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Q.4 a. Solve cos(x+ y)dy = dx (8)
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b. Solve g—y+ y-secx =tan x (8)
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Q.5 a. Find the term independent of x in the expansion of [sz ——) (8)
X
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Q.6 a. Provethat, cos2A-cos2B +sin’(A—B)-sin’(A+B)=cos(2A+2B)
Answer:
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b. The sides of a triangle are x2+x+12x+1 and x*-1. Find the greatest
angle. (8)
Answer:
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Q.7 a. Find the equation of the circle which passes through the points (3,-2),(~2,0)

and having its centre on the line 2x —y = 3. (8)
Answer:
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Q.8 a. If p be the length of perpendicular from the origin to the line whose

intercepts on the axes are a and b respectively, then show that ! = L

p2 a2 b2
8
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b. Find the equation of the straight lines through the point (2,-1) and making
an angle of 45°with the line 6x+5y—-1=0 (8)
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